
Technical Support and E-Warranty Certificate www.vevor.com/support

MOTORCYCLE TOP CASE
MODEL: 45L-B/55L-B/65L-B/45L-S

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only represents an

estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are
actually saving half in comparison with the top major brands.

http://www.vevor.com/support


Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

NEED HELP? CONTACT US!

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.

PRODUCTION CONFIGURATION

Model 45L-B 55L-B 65L-B 45L-S

Capacity 45L 55L 65L 45L

Colour BLACK BLACK BLACK SILVERY

PARTS LIST

ITEM Name PICTURE Q'TY ITEM Name PICTUR
E

Q'TY

1
W-shaped
positioning

plate

4PC 8
Reflective
stripe

2
pairs

2
M6*40
Screw

4PC 9 key 2PC

3
M6*20
Screw

4PC 10 Floor 1PC

4
Anti slip nut

M6
4PC 11 manual 1PC

5
Large flat
cushion

4PC 12
Upper
backrest

1PC



6
L-shaped
wrench

1PC 13
Lower
backrest

1PC

7 Open
wrench

1PC 14 Cleaning
cotton

2PC

INSTALLATION INSTRUCTIONS

1. Adjust the bottom plate locking
screw to prevent abnormal noise
caused by loose fixing of the box body.

2. Align the bottom plate with the
screw holes on the locomotive
tailstock.

3. Use the provided hex wrench to
tighten the screws. The product comes
with two types of screws of different
lengths, and users can choose to use
them according to their actual
installation needs.

4. Use a wrench to tighten the gasket
and nut at the bottom of the tailstock.



5. Align the four holes at the bottom of
the trunk with the four fixed columns
on the bottom plate.

6. Push the trunk inward and lock the
bottom plate. Check if the bottom plate
lock is loose.

Manufacturer: Shanghaimuxinmuyeyouxiangongsi
Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai
200000 CN.
Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD NSW 2122
Australia
Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim Place,
Rancho Cucamonga, CA 91730

REPUK
YH CONSULTING LIMITED.
C/O YH Consulting Limited Office 147,
Centurion House, London Road,
Staines-upon-Thames, Surrey, TW18 4AX

REPEC
E-CrossStu GmbH
Mainzer Landstr.69,
60329 Frankfurt am Main.

Technical Support and E-Warranty Certificate
www.vevor.com/support

https://www.vevor.com/support


MODÈLE :  45L­B/55L­B/65L­B/45L­S

TOP  CASE  MOTO
Assistance  technique  et  certificat  de  garantie  électronique  www.vevor.com/support

"Économisez  la  moitié",  "Moitié  prix"  ou  toute  autre  expression  similaire  que  nous  utilisons  ne  représente  
qu'une  estimation  des  économies  dont  vous  pourriez  bénéficier  en  achetant  certains  outils  chez  nous  par  rapport  
aux  grandes  marques  et  ne  signifie  pas  nécessairement  couvrir  toutes  les  catégories  d'outils  proposés.  par  nous.  

Nous  vous  rappelons  de  bien  vouloir  vérifier  attentivement  lorsque  vous  passez  une  commande  chez  
nous  si  vous  économisez  réellement  la  moitié  par  rapport  aux  grandes  marques.

Nous  continuons  à  nous  engager  à  vous  fournir  des  outils  à  des  prix  compétitifs.

Machine Translated by Google

http://www.vevor.com/support


manuel  d'utilisation.  L'apparence  du  produit  est  soumise  aux

www.vevor.com/support

soigneusement  avant  de  l'utiliser.  VEVOR  se  réserve  une  interprétation  claire  de  nos

produit  que  vous  avez  reçu.  Veuillez  nous  pardonner,  nous  ne  vous  informerons  plus  si

Assistance  technique  et  certificat  de  garantie  électronique

Ceci  est  l'instruction  originale,  veuillez  lire  toutes  les  instructions  du  manuel

Contactez­nous:

Vous  avez  des  questions  sur  les  produits ?  Besoin  d'une  assistance  technique ?  N'hésitez  pas  à

il  existe  des  mises  à  jour  technologiques  ou  logicielles  sur  notre  produit.

CONFIGURATION  DE  PRODUCTION

BESOIN  D'AIDE ?  CONTACTEZ­NOUS!

LISTE  DES  PIÈCES

1

4  pièces  9

Écrou  antidérapant

NOIR ARGENTÉ

plaque

coussin

Supérieur
5

55L

IMAGE

Réfléchissant

2  pièces

4  pièces  10

Capacité

paires

65L

Nom  de  l'article Q'TÉ

bande

45L­S

en  forme  de  W
4  pièces  8

45L­B

Vis

M6

Vis
Sol

4 manuel

4  pièces  12

positionnement

2

Grand  appartement

45L 45L

NOIR

1  pièce

3

dossier

55L­B

M6*40
clé

2

M6*20
1  pièce

Modèle 65L­B

ET

1  pièce

4  pièces  11

Couleur NOIR

IMAGE  Q'TÉ  Nom  DE  L'ARTICLE

Machine Translated by Google



INSTRUCTIONS  D'INSTALLATION

1  pièce  13

contre­pointe.

1  pièce

3.  Utilisez  la  clé  hexagonale  fournie  pour  serrer  

les  vis.  Le  produit  est  livré  avec  deux  types  de  vis  

de  longueurs  différentes,  et  les  utilisateurs  

peuvent  choisir  de  les  utiliser  en  fonction  de  leurs  

besoins  d'installation  réels.

Coton  de  

nettoyage

4.  Utilisez  une  clé  pour  serrer  le  joint  et  l'écrou  au  

bas  de  la  contre­pointe.

Clé  en  

forme  de  L

7 1  pièce  14 2  pièces
Clé  

ouverte

Inférieur

dossier

1.  Ajustez  la  vis  de  verrouillage  de  la  plaque  

inférieure  pour  éviter  les  bruits  anormaux  

causés  par  une  fixation  lâche  du  corps  de  la  boîte.

2.  Alignez  la  plaque  inférieure  avec  les  trous  

de  vis  de  la  locomotive.

6

Machine Translated by Google



Maison  Centurion,  London  Road,
C/O  YH  Consulting  Limited  Bureau  147,

YH  CONSULTING  LIMITÉE.

E­CrossStu  GmbH

Staines­upon­Thames,  Surrey,  TW18  4AX

Mainzer  Landstr.69,  
60329  Francfort­sur­le­Main.

sur  la  plaque  inférieure. le  verrou  est  desserré.

Fabricant :  Shanghaimuxinmuyeyouxiangongsi

200  000  CN.

6.  Poussez  le  coffre  vers  l'intérieur  et  verrouillez  le

plaque  inférieure.  Vérifiez  si  la  plaque  inférieurele  coffre  avec  les  quatre  colonnes  fixes

5.  Alignez  les  quatre  trous  au  bas  de

Importé  en  Australie : SIHAO  PTY  LTD.  1  ROKEVA  STREETASTWOOD  NSW  2122

Australie

www.vevor.com/support

Importé  aux  États­Unis :  Sanven  Technology  Ltd.  Suite  250,  9166  Anaheim  Place,  Rancho  Cucamonga,  

CA  91730

Adresse :  Shuangchenglu  803nong11hao1602A­1609shi,  baoshanqu,  Shanghai

Assistance  technique  et  certificat  de  garantie  électronique

REPRÉSENTANT  DU  ROYAUME­UNI

REPRÉSENTANT  CE

Machine Translated by Google

https://www.vevor.com/support


MODELL:  45L-B/55L-B/65L-B/45L-S

MOTORRAD-TOPCASE
Technischer  Support  und  E-Garantie-Zertifikat  www.vevor.com/support

„Sparen  Sie  die  Hälfte“,  „Halber  Preis“  oder  andere  ähnliche  Ausdrücke,  die  wir  verwenden,  stellen  nur  eine  
Schätzung  der  Ersparnis  dar,  die  Sie  beim  Kauf  bestimmter  Werkzeuge  bei  uns  im  Vergleich  zu  den  großen  
Topmarken  erzielen  können,  und  decken  nicht  unbedingt  alle  von  uns  angebotenen  Werkzeugkategorien  ab.  Wir  

möchten  Sie  freundlich  daran  erinnern,  bei  Ihrer  Bestellung  bei  uns  sorgfältig  zu  prüfen,  ob  Sie  im  Vergleich  
zu  den  großen  Topmarken  tatsächlich  die  Hälfte  sparen.

Wir  sind  weiterhin  bestrebt,  Ihnen  Werkzeuge  zu  wettbewerbsfähigen  Preisen  anzubieten.

Machine Translated by Google

http://www.vevor.com/support


Dies  ist  die  Originalanleitung.  Bitte  lesen  Sie  alle  Anweisungen  im  Handbuch.
sorgfältig  vor  der  Inbetriebnahme.  VEVOR  behält  sich  eine  klare  Auslegung  unserer
Benutzerhandbuch.  Das  Aussehen  des  Produkts  unterliegt  den
Produkt,  das  Sie  erhalten  haben.  Bitte  haben  Sie  Verständnis,  dass  wir  Sie  nicht  erneut  informieren,  wenn

Technischer  Support  und  E-Garantie-Zertifikat
www.vevor.com/support

Kontakt:

Haben  Sie  Fragen  zu  unseren  Produkten?  Benötigen  Sie  technische  Unterstützung?

es  gibt  Technologie-  oder  Software-Updates  für  unser  Produkt.

PRODUKTIONSKONFIGURATION

Brauchen  Sie  Hilfe?  Kontaktieren  Sie  uns!

TEILELISTE

SCHWARZ

MENGE

Streifen

Schrauben

Boden

4PC  12

Kapazität 65  Liter

Artikelname

Paare

Schrauben

4

45L-B 45L-S

W-förmig
4Stk.  8

M6
Handbuch

SCHWARZ SILBRIG

Platte

4PC  9

Kissen

Obere

55L

BILD

Reflektierend

2  Stück

4PC  10

5

Modell 65L-B

UND

2

M6*20
1  Stück

1  Stück

Farbe SCHWARZ

BILD  MENGE  ARTIKEL  Name

1

Anti-Rutsch-Mutter
4PC  11

45  Liter 45  Liter

Positionierung

2

Große  Wohnung

1  Stück

55L-B

M6*40
Schlüssel

3

Rückenlehne

Machine Translated by Google



INSTALLATIONSANLEITUNG

Maulschlüssel
2  Stück

Untere

Rückenlehne

1.  Passen  Sie  die  Feststellschraube  der  Bodenplatte  

an,  um  ungewöhnliche  Geräusche  durch  eine  

lockere  Befestigung  des  Kastenkörpers  zu  vermeiden.

6

2.  Richten  Sie  die  Bodenplatte  mit  den  

Schraubenlöchern  an  der  Lokomotive  aus

1.  Korinther  13

Reitstock.

1  Stück

3.  Ziehen  Sie  die  Schrauben  mit  dem  mitgelieferten  

Inbusschlüssel  fest.  Das  Produkt  wird  mit  zwei  

Schraubentypen  unterschiedlicher  Länge  geliefert,  und  

Benutzer  können  sie  je  nach  ihren  tatsächlichen  

Installationsanforderungen  verwenden.

Reinigungswatte

4.  Ziehen  Sie  die  Dichtung  und  die  Mutter  an  der  Unterseite  

des  Reitstocks  mit  einem  Schraubenschlüssel  fest.

7

L-förmiger  

Schraubenschlüssel

1.  Korinther  14

Machine Translated by Google



C/O  YH  Consulting  Limited  Office  147,

Staines-upon-Thames,  Surrey,  TW18  4AX

Centurion  House,  London  Road,

YH  CONSULTING  LIMITED.

Mainzer  Landstr.69,  

60329  Frankfurt  am  Main.  

E-CrossStu  GmbH

Schloss  ist  locker.auf  der  Bodenplatte.

Hersteller:  Shanghaimuxinmuyeyouxiangongsi

Adresse:  Shuangchenglu  803nong11hao1602A-1609shi,  Baoshanqu,  Shanghai

6.  Den  Kofferraum  nach  innen  drücken  und  verriegeln

Bodenplatte.  Überprüfen  Sie,  ob  die  Bodenplatteder  Kofferraum  mit  den  vier  festen  Säulen

5.  Richten  Sie  die  vier  Löcher  an  der  Unterseite  des

Importiert  in  die  USA:  Sanven  Technology  Ltd.  Suite  250,  9166  Anaheim  Place,  Rancho  Cucamonga,  

CA  91730

Nach  AUS  importiert:  SIHAO  PTY  LTD.  1  ROKEVA  STREETEASTWOOD  NSW  2122

200000  CN.

Technischer  Support  und  E-Garantie-Zertifikat

www.vevor.com/support

Australien

UK  REP

Vertreter  der  EG

Machine Translated by Google

https://www.vevor.com/support


BAULETTO  MOTO

"Risparmia  la  metà",  "Metà  prezzo"  o  qualsiasi  altra  espressione  simile  da  noi  utilizzata  rappresenta  
solo  una  stima  del  risparmio  che  potresti  trarre  dall'acquistare  determinati  strumenti  con  noi  rispetto  ai  
principali  marchi  più  importanti  e  non  significa  necessariamente  coprire  tutte  le  categorie  di  strumenti  

offerti  da  noi.  Ti  ricordiamo  di  verificare  attentamente  quando  effettui  un  ordine  con  noi  se  stai  
effettivamente  risparmiando  la  metà  rispetto  ai  migliori  marchi  principali.

Continuiamo  a  impegnarci  per  fornirvi  strumenti  a  prezzi  competitivi.

MODELLO:  45L-B/55L-B/65L-B/45L-S

Supporto  tecnico  e  certificato  di  garanzia  elettronica  www.vevor.com/support

Machine Translated by Google

http://www.vevor.com/support


4PC9

cuscino

IMMAGINE  QUANTITÀ  ARTICOLO  Nome

Colore NERO

1

Dado  antiscivolo
4PC11

Superiore

Modello 65L-B

E

2

M6*20
1  pezzo

M6*40

55L-B

chiave

3

schienale
1  pezzo

NERO

45  litri45  litri

Appartamento  grande

posizionamento

2

1  pezzo

Vite

4

45L-B

4PC8

45L-S

A  forma  di  W

QUANTITÀ

banda

Vite

M6

Pavimento

65  litriCapacità

Nome  ARTICOLO

coppie

manuale

4  pezzi  12

Riflettente

55  litri

IMMAGINE

2  pezzi

4  pezzi  10

5

NERO ARGENTEO

piatto

ELENCO  PARTI

HAI  BISOGNO  DI  AIUTO?  CONTATTACI!

CONFIGURAZIONE  DELLA  PRODUZIONE

Questa  è  l'istruzione  originale,  si  prega  di  leggere  tutte  le  istruzioni  del  manuale
attentamente  prima  di  operare.  VEVOR  si  riserva  una  chiara  interpretazione  della  ns
manuale  utente.  L'aspetto  del  prodotto  è  soggetto  al

Supporto  tecnico  e  certificato  di  garanzia  elettronica
www.vevor.com/support

contattaci:

Hai  domande  sul  prodotto?  Hai  bisogno  di  supporto  tecnico?  Per  favore,  sentitevi  liberi  di  farlo

prodotto  che  hai  ricevuto.  Ti  preghiamo  di  perdonarci  se  non  ti  informeremo  più  se
sono  presenti  aggiornamenti  tecnologici  o  software  sul  nostro  prodotto.

Machine Translated by Google



ISTRUZIONI  PER  L'INSTALLAZIONE

3.  Utilizzare  la  chiave  esagonale  fornita  per  

serrare  le  viti.  Il  prodotto  viene  fornito  con  due  tipi  di  

viti  di  diversa  lunghezza  e  gli  utenti  possono  

scegliere  di  utilizzarle  in  base  alle  proprie  effettive  

esigenze  di  installazione.

1  pezzo  13

contropunta.

2.  Allineare  la  piastra  inferiore  con  i  fori  delle  

viti  sulla  locomotiva

6
schienale

1.  Regolare  la  vite  di  bloccaggio  della  piastra  

inferiore  per  evitare  rumori  anomali  causati  dal  

fissaggio  allentato  del  corpo  della  scatola.

Inferiore

2  pezzi
Chiave  

aperta

Chiave  a  

forma  di  L

1  pezzo  147

4.  Utilizzare  una  chiave  per  serrare  la  guarnizione  e  il  

dado  nella  parte  inferiore  della  contropunta.

Pulizia  del  

cotone

1  pezzo

Machine Translated by Google



REP.CE

REP.  DEL  REGNO  UNITO

la  serratura  è  allentata.sulla  piastra  inferiore.

Produttore:  Shanghaimuxinmuyeyouxiangongsi

Australia

il  tronco  con  le  quattro  colonne  fisse piastra  inferiore.  Controllare  se  la  piastra  inferiore

6.  Spingere  il  bagagliaio  verso  l'interno  e  bloccarlo5.  Allineare  i  quattro  fori  nella  parte  inferiore  di

Indirizzo:  Shuangchenglu  803nong11hao1602A-1609shi,  baoshanqu,  shanghai

200000  NC.

Importato  in  AUS:  SIHAO  PTY  LTD.  1  ROKEVA  STREETEASTWOOD  NSW  2122

Importato  negli  Stati  Uniti:  Sanven  Technology  Ltd.  Suite  250,  9166  Anaheim  Place,  Rancho  

Cucamonga,  CA  91730

Supporto  tecnico  e  certificato  di  garanzia  elettronica

www.vevor.com/support

Casa  del  Centurione,  London  Road,

Staines-upon-Thames,  Surrey,  TW18  4AX

C/O  YH  Consulting  Limited  Ufficio  147,

YH  CONSULENZA  LIMITATA.

E-CrossStu  GmbH

Mainzer  Landstr.69,  

60329  Francoforte  sul  Meno.

Machine Translated by Google

https://www.vevor.com/support


MODELO:  45L­B/55L­B/65L­B/45L­S

MALETERO  PARA  MOTO
Soporte  técnico  y  certificado  de  garantía  electrónica  www.vevor.com/support

"Ahorre  a  mitad  de  precio",  "A  mitad  de  precio"  o  cualquier  otra  expresión  similar  utilizada  por  nosotros  solo  
representa  una  estimación  de  los  ahorros  que  podría  beneficiarse  al  comprar  ciertas  herramientas  con  nosotros  en  
comparación  con  las  principales  marcas  principales  y  no  necesariamente  significa  cubrir  todas  las  categorías  de  

herramientas  ofrecidas.  por  nosotros.  Le  recordamos  que,  cuando  realice  un  pedido  con  nosotros,  verifique  
cuidadosamente  si  realmente  está  ahorrando  la  mitad  en  comparación  con  las  principales  marcas.

Seguimos  comprometidos  a  proporcionarle  herramientas  a  precios  competitivos.

Machine Translated by Google

http://www.vevor.com/support


Estas  son  las  instrucciones  originales,  lea  todas  las  instrucciones  del  manual.
cuidadosamente  antes  de  operar.  VEVOR  se  reserva  una  interpretación  clara  de  nuestra
manual  de  usuario.  La  apariencia  del  producto  estará  sujeta  a  la
Producto  que  recibiste.  Por  favor  perdónanos  que  no  te  informaremos  nuevamente  si

Soporte  técnico  y  certificado  de  garantía  electrónica
www.vevor.com/support

contáctenos:
¿Tiene  preguntas  sobre  el  producto?  ¿Necesita  soporte  técnico?  Por  favor  siéntete  libre  de

hay  actualizaciones  de  tecnología  o  software  en  nuestro  producto.

CONFIGURACIÓN  DE  PRODUCCIÓN

¿NECESITAR  AYUDA?  ¡CONTÁCTANOS!

LISTA  DE  PIEZAS

NEGRO

CANTIDAD

raya

Tornillo

Piso

4  piezas  12

Capacidad 65L

Nombre  del  ARTÍCULO

pares

Tornillo

4

45L­B 45L­S

en  forma  de  W
4  piezas  8

M6
manual

NEGRO PLATEADO

lámina

4  piezas  9

almohadón

Superior

55L

IMAGEN

Pensativo

2  piezas

4  piezas  10

5

Modelo 65L­B

Y

2

M6*20
1  unidad

1  unidad

Color NEGRO

IMAGEN  CANTIDAD  ARTÍCULO  Nombre

1

Tuerca  antideslizante
4  piezas  11

45L 45L

posicionamiento

2

Piso  grande

1  unidad

55L­B

M6*40
llave

3

respaldo

Machine Translated by Google



INSTRUCCIONES  DE  INSTALACIÓN

2  piezas
llave  

abierta

Más  bajo

respaldo

1.  Ajuste  el  tornillo  de  bloqueo  de  la  placa  inferior  

para  evitar  ruidos  anormales  causados  por  una  

fijación  floja  del  cuerpo  de  la  caja.

6

2.  Alinee  la  placa  inferior  con  los  orificios  para  

tornillos  de  la  locomotora.

1  unidad  13

contrapunto.

1  unidad

3.  Utilice  la  llave  hexagonal  proporcionada  para  

apretar  los  tornillos.  El  producto  viene  con  dos  tipos  de  

tornillos  de  diferentes  longitudes  y  los  usuarios  

pueden  optar  por  utilizarlos  según  sus  necesidades  

reales  de  instalación.

Algodón  de  

limpieza

4.  Utilice  una  llave  para  apretar  la  junta  y  la  tuerca  en  la  

parte  inferior  del  contrapunto.

7

llave  en  

forma  de  L

1  unidad  14

Machine Translated by Google



C/O  YH  Consulting  Limited  Oficina  147,

Staines  upon  Thames,  Surrey,  TW18  4AX

Casa  Centurión,  London  Road,

YH  CONSULTING  LIMITADO.

Mainzer  Landstr.69,  
60329  Fráncfort  del  Meno.

E­CrossStu  GmbH

la  cerradura  está  floja.en  la  placa  inferior.

Fabricante:  Shanghaimuxinmuyeyouxiangongsi

Dirección:  Shuangchenglu  803nong11hao1602A­1609shi,  baoshanqu,  shanghai

6.  Empuje  el  maletero  hacia  adentro  y  bloquee  el

placa  inferior.  Compruebe  si  la  placa  inferiorEl  baúl  con  las  cuatro  columnas  fijas.

5.  Alinee  los  cuatro  orificios  en  la  parte  inferior  de

200.000  CN.

Importado  a  AUS:  SIHAO  PTY  LTD.  1  ROKEVA  STREET  ASTWOOD  NSW  2122

Australia

Importado  a  EE.  UU.:  Sanven  Technology  Ltd.  Suite  250,  9166  Anaheim  Place,  Rancho  Cucamonga,  

CA  91730

Soporte  técnico  y  certificado  de  garantía  electrónica

www.vevor.com/support

REPRESENTANTE  DEL  REINO  UNIDO

REPRESENTANTE  DE  LA  CE

Machine Translated by Google

https://www.vevor.com/support


GÓRNA  KUFER  MOTOCYKLOWY

„Zaoszczędź  o  połowę”,  „o  połowę  ceny”  lub  inne  podobne  wyrażenia  używane  przez  nas  przedstawiają  jedynie  
szacunkową  oszczędność,  jaką  możesz  zyskać  kupując  u  nas  określone  narzędzia  w  porównaniu  z  głównymi  najlepszymi  
markami  i  niekoniecznie  oznaczają  uwzględnienie  wszystkich  kategorii  oferowanych  narzędzi  przez  nas.  Przypominamy,  

aby  podczas  składania  zamówienia  u  nas  dokładnie  sprawdzić,  czy  faktycznie  oszczędzasz  połowę  w  porównaniu  
z  czołowymi  markami.

Nadal  dokładamy  wszelkich  starań,  aby  zapewnić  Państwu  narzędzia  w  konkurencyjnej  cenie.

MODEL:  45L-B/55L-B/65L-B/45L-S

Wsparcie  techniczne  i  certyfikat  e-gwarancji  www.vevor.com/support

Machine Translated by Google

http://www.vevor.com/support


To  jest  oryginalna  instrukcja.  Prosimy  o  zapoznanie  się  ze  wszystkimi  instrukcjami  zawartymi  w  instrukcji

ostrożnie  przed  rozpoczęciem  pracy.  VEVOR  zastrzega  sobie  jasną  interpretację  naszych
instrukcja  obsługi.  Wygląd  produktu  podlega
produkt,  który  otrzymałeś.  Proszę  nam  wybaczyć,  że  nie  będziemy  Państwa  ponownie  informować,  jeśli

Wsparcie  techniczne  i  certyfikat  e-gwarancji
www.vevor.com/support

skontaktuj  się  z  nami:

Masz  pytania  dotyczące  produktu?  Potrzebujesz  wsparcia  technicznego?  Proszę  bardzo

są  jakieś  aktualizacje  technologii  lub  oprogramowania  naszego  produktu.

KONFIGURACJA  PRODUKCYJNA

POTRZEBUJESZ  POMOCY?  SKONTAKTUJ  SIĘ  Z  NAMI!

LISTA  CZĘŚCI

4  szt.  9

poduszka

ZDJĘCIE  ILOŚĆ  ELEMENT  Nazwa

Kolor CZARNY

1

Nakrętka  antypoślizgowa
4  szt.  11

Górny

Model 65L-B

I

2

M6*20
1  szt

M6*40

55L-B

klawisz

3

oparcie
1  szt

CZARNY

45L45L

Duże  mieszkanie

pozycjonowanie

2

1  szt

Śruba

4

45L-B

4  szt.  8

45L-S

W  kształcie  litery  W

Q'TY  

naszywka

Śruba

M6

Podłoga

65LPojemność

Nazwa  ELEMENTU

pary

podręcznik

4  szt.  12

Odblaskowy

55L

ZDJĘCIE

2  szt

4  szt.  10

5

CZARNY SREBRZYSTY

płyta

Machine Translated by Google



INSTRUKCJA  MONTAŻU

3.  Użyj  dostarczonego  klucza  sześciokątnego,  

aby  dokręcić  śruby.  Produkt  jest  dostarczany  z  

dwoma  rodzajami  śrub  o  różnych  długościach,  

a  użytkownicy  mogą  wybrać  ich  użycie  w  

zależności  od  rzeczywistych  potrzeb  

instalacyjnych.

1  szt.  13

konik.

2.  Wyrównaj  dolną  płytę  z  otworami  na  

śruby  w  lokomotywie

6
oparcie

1.  Wyreguluj  śrubę  blokującą  płytę  dolną,  

aby  zapobiec  nietypowym  hałasom  

powodowanym  przez  luźne  zamocowanie  korpusu  skrzynki.

Niżej

Otwórz  

klucz
2  szt

Klucz  w  

kształcie  litery  L

1  szt.  147

4.  Za  pomocą  klucza  dokręć  uszczelkę  i  nakrętkę  

na  dole  konika.

Czyszczenie  

bawełny

1  szt

Machine Translated by Google



Dom  Centuriona,  London  Road,
Staines-upon-Thames,  Surrey,  TW18  4AX

C/O  YH  Consulting  Limited  Biuro  147,

YH  CONSULTING  SPÓŁKA  Z  OGRANICZONĄ  ODPOWIEDZIALNOŚCIĄ.

E-CrossStu  GmbH

Mainzer  Landstr.69,  
60329  Frankfurt  nad  Menem.

zamek  jest  luźny.na  dolnej  płycie.

Producent:  Shanghaimuxinmuyeyouxiangongsi

Adres:  Shuangchenglu  803nong11hao1602A-1609shi,  baoshanqu,  Szanghaj

6.  Wciśnij  bagażnik  do  środka  i  zablokuj

płyta  dolna.  Sprawdź,  czy  dolna  płytapień  z  czterema  stałymi  kolumnami

5.  Dopasuj  cztery  otwory  u  dołu

200  000  CN.

Australia

Import  do  USA:  Sanven  Technology  Ltd.  Suite  250,  9166  Anaheim  Place,  Rancho  Cucamonga,  CA  

91730

Wsparcie  techniczne  i  certyfikat  e-gwarancji

Import  do  AUS:  SIHAO  PTY  LTD.  1  ROKEVA  STREETEASTWOOD  NSW  2122

www.vevor.com/support

REPUBLIKA  Wielkiej  Brytanii

REPREZENT  KE

Machine Translated by Google

https://www.vevor.com/support


MODEL:  45L-B/55L-B/65L-B/45L-S

We  blijven  ons  inzetten  om  u  gereedschap  tegen  een  concurrerende  prijs  te  bieden.

'Bespaar  de  helft',  'Halve  prijs'  of  andere  soortgelijke  uitdrukkingen  die  door  ons  worden  gebruikt  vertegenwoordigen  

slechts  een  schatting  van  de  besparingen  die  u  zou  kunnen  profiteren  als  u  bepaalde  gereedschappen  bij  ons  koopt  in  

vergelijking  met  de  grote  topmerken  en  betekenen  niet  noodzakelijkerwijs  dat  ze  alle  aangeboden  categorieën  

gereedschappen  dekken.  door  ons.  Wij  verzoeken  u  vriendelijk  om  bij  het  plaatsen  van  een  bestelling  bij  ons  

goed  na  te  gaan  of  u  daadwerkelijk  de  helft  bespaart  in  vergelijking  met  de  grote  topmerken.

MOTORFIETS  TOPKOFFER

Technische  ondersteuning  en  e-garantiecertificaat  www.vevor.com/support

Machine Translated by Google

http://www.vevor.com/support


2

M6*20

1  ST5

Reflecterend

55L

AFBEELDING

2PC

4PC  10

Bovenste

4PC  9

ZWART ZILVERIG

bord

kussen

Schroef

4PC  8

45L-S45L-B

W-vormig

M6
4

Schroef

AANTAL

65LCapaciteit

ITEM-naam

streep paren

3

M6*40

55L-B

ZWART

sleutel

Vloer

handmatig

Grote  flat

positionering

45L 45L

2

1  ST

rugleuning
4PC  12

FOTO  AANTAL  ITEM  Naam

Kleur ZWART

1

Anti-slip  moer
4PC  11

Model 65L-B

EN

1  ST

PRODUCTIECONFIGURATIE

HULP  NODIG?  NEEM  CONTACT  MET  ONS  OP!

ONDERDELENLIJST

zorgvuldig  voordat  u  ermee  aan  de  slag  gaat.  VEVOR  behoudt  zich  een  duidelijke  interpretatie  van  onze

gebruikershandleiding.  Het  uiterlijk  van  het  product  is  onderworpen  aan  de

Dit  is  de  originele  instructie,  lees  alle  handleidingen

product  dat  u  heeft  ontvangen.  Vergeef  ons  alstublieft  dat  wij  u  niet  nogmaals  informeren

Technische  ondersteuning  en  e-garantiecertificaat
www.vevor.com/support

neem  contact  met  ons  op:

Heeft  u  productvragen?  Technische  ondersteuning  nodig?  Neem  gerust  contact  met  ons  op

er  zijn  technologie-  of  software-updates  voor  ons  product.

Machine Translated by Google



INSTALLATIE-INSTRUCTIES

1  ST  14

rugleuning

1.  Stel  de  borgschroef  van  de  bodemplaat  af  

om  abnormaal  geluid  te  voorkomen  dat  

wordt  veroorzaakt  door  een  losse  bevestiging  van  de  kast.

Lager
1  ST  13

losse  kop.

6

2.  Lijn  de  bodemplaat  uit  met  de  

schroefgaten  op  de  locomotief

4.  Gebruik  een  sleutel  om  de  pakking  en  moer  

aan  de  onderkant  van  de  losse  kop  vast  te  draaien.

Katoen  

reinigen

1  ST

3.  Gebruik  de  meegeleverde  inbussleutel  om  de  

schroeven  vast  te  draaien.  Het  product  wordt  geleverd  

met  twee  soorten  schroeven  van  verschillende  

lengtes,  en  gebruikers  kunnen  ervoor  kiezen  deze  

te  gebruiken  op  basis  van  hun  

daadwerkelijke  installatiebehoeften.

2PC
Open  

sleutel
7

L-vormige  

sleutel

Machine Translated by Google



C/O  YH  Consulting  Limited  Kantoor  147,

Staines-upon-Thames,  Surrey,  TW18  4AX

Centurion  House,  Londen  Road,

YH  CONSULTING  LIMITED.

E-CrossStu  GmbH

Mainzer  Landstr.69,  

60329  Frankfurt  am  Main.

slot  zit  los.

bodemplaat.  Controleer  of  de  bodemplaat

op  de  bodemplaat.

Adres:  Shuangchenglu  803nong11hao1602A-1609shi,  baoshanqu,  shanghai

de  kofferbak  met  de  vier  vaste  kolommen

Fabrikant:  Shanghaimuxinmuyeyouxiangongsi

6.  Duw  de  kofferbak  naar  binnen  en  vergrendel  deze5.  Lijn  de  vier  gaten  aan  de  onderkant  uit

200.000  CN.

Australië

Geïmporteerd  naar  de  VS:  Sanven  Technology  Ltd.  Suite  250,  9166  Anaheim  Place,  

Rancho  Cucamonga,  CA  91730

Technische  ondersteuning  en  e-garantiecertificaat

Geïmporteerd  naar  AUS:  SIHAO  PTY  LTD.  1  ROKEVA  STREETEASTWOOD  NSW  2122

www.vevor.com/support

EG  REP

Britse  REP

Machine Translated by Google

https://www.vevor.com/support


MOTORCYKELS  TOPPFODRAL

"Spara  hälften",  "halva  priset"  eller  andra  liknande  uttryck  som  används  av  oss  representerar  
bara  en  uppskattning  av  besparingar  du  kan  dra  nytta  av  att  köpa  vissa  verktyg  hos  oss  jämfört  med  
de  stora  toppmärkena  och  betyder  inte  nödvändigtvis  att  täcka  alla  kategorier  av  verktyg  som  erbjuds  

av  oss.  Du  påminns  vänligen  om  att  noggrant  kontrollera  när  du  gör  en  beställning  hos  oss  om  
du  faktiskt  sparar  hälften  i  jämförelse  med  de  främsta  stora  varumärkena.

Vi  fortsätter  att  vara  engagerade  i  att  ge  dig  verktyg  till  konkurrenskraftiga  priser.

MODELL:  45L-B/55L-B/65L-B/45L-S

Teknisk  support  och  e-garanticertifikat  www.vevor.com/support

Machine Translated by Google

http://www.vevor.com/support


Detta  är  den  ursprungliga  instruktionen,  läs  alla  manualer
noggrant  innan  användning.  VEVOR  reserverar  sig  för  en  tydlig  tolkning  av  vår
bruksanvisning.  Produktens  utseende  ska  vara  beroende  av
produkt  du  fått.  Förlåt  oss  att  vi  inte  kommer  att  informera  dig  igen  om

Teknisk  support  och  e-garanticertifikat
www.vevor.com/support

kontakta  oss:

Har  du  produktfrågor?  Behöver  du  teknisk  support?  Du  får  gärna

det  finns  någon  teknik  eller  mjukvaruuppdateringar  på  vår  produkt.

PRODUKTIONSKONFIGURATION

BEHÖVER  HJÄLP?  KONTAKTA  OSS!

DELLISTA

4st  9

dämpa

BILD  ANTAL  ARTIKEL  Namn

Färg SVART

1

Antiglid  mutter
4st  11

Övre

Modell 65L-B

OCH

2

M6*20
1  st

M6*40

55L-B

nyckel

3

ryggstöd
1  st

SVART

45L45L

Stor  lägenhet

positionering

2

1  st

Skruva

4

45L-B

4st  8

45L-S

W-formad

ANTAL

rand

Skruva

M6

Golv

65LKapacitet

ARTIKEL  Namn

par

manuell

4st  12

Reflekterande

55L

BILD

2  st

4st  10

5

SVART SILVERREN

tallrik

Machine Translated by Google



3.  Använd  den  medföljande  sexkantsnyckeln  

för  att  dra  åt  skruvarna.  Produkten  levereras  med  

två  typer  av  skruvar  av  olika  längd,  och  

användare  kan  välja  att  använda  dem  efter  deras  

faktiska  installationsbehov.

1  st  13

stjärtstock.

2.  Rikta  in  bottenplattan  med  skruvhålen  på  

loket

6
ryggstöd

1.  Justera  bottenplattans  låsskruv  för  att  

förhindra  onormalt  ljud  orsakat  av  lös  

fixering  av  boxkroppen.

Lägre

Öppna  

skiftnyckel
2  st

L-formad  

skiftnyckel

1  st  147

4.  Använd  en  skiftnyckel  för  att  dra  åt  packningen  

och  muttern  i  botten  av  bakstycket.

Rengöring  

av  bomull

1  st

INSTALLATIONSINSTRUKTIONER

Machine Translated by Google



Centurion  House,  London  Road,

Staines-upon-Thames,  Surrey,  TW18  4AX

C/O  YH  Consulting  Limited  Office  147,

YH  CONSULTING  LIMITED.

E-CrossStu  GmbH

Mainzer  Landstr.69,  

60329  Frankfurt  am  Main.

låset  är  löst.på  bottenplattan.

Tillverkare:  Shanghaimuxinmuyeyouxiangongsi

Australien

6.  Tryck  stammen  inåt  och  lås

bottenplatta.  Kontrollera  om  bottenplattanstammen  med  de  fyra  fasta  kolonnerna

5.  Rikta  in  de  fyra  hålen  längst  ner  på

200  000  CN.

Adress:  Shuangchenglu  803nong11hao1602A-1609shi,  baoshanqu,  shanghai

Importerad  till  AUS:  SIHAO  PTY  LTD.  1  ROKEVA  STREETEASTWOOD  NSW  2122

Teknisk  support  och  e-garanticertifikat

www.vevor.com/support

Importerad  till  USA:  Sanven  Technology  Ltd.  Suite  250,  9166  Anaheim  Place,  Rancho  

Cucamonga,  CA  91730

UK  REP

EC  REP

Machine Translated by Google

https://www.vevor.com/support

